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1 | The train had left before I the station.
a) reach b) was ¢) reached d) reaches ¢ | reached
reaching
2 | Sam_____ suffering from fever since the last week.
a) has been ‘ b) was | C)is ‘ d) has ‘ a ‘ has been
3 | Isaac Newton ______ gravity.
a) b) discovers ¢) has d) had a | discovered
discovered discovered discovered
4 | Samantha spent her childhood her grandmother’s home.
a) at ‘ b) in | c)on ‘ d) across ‘ b ‘ in
5 | Hesaw a of sheep in the field.
a) group ‘ b) herd | ¢) swarm ‘ d) flock ‘ d ‘ flock
6 | Toerris , to forgive divine.
a) beastly ‘ b) natural | ¢) inhuman ‘ d) human ‘ d ‘ human
7 | Ram was struck lightning.
a) by | b) with | o) at | d) from | a [by
8 | Sheela complimented me my success in the dance competition.
a) at ‘ b) on | ¢) about ‘ d) against ‘ b ‘ on
9 | Choose the correct synonym of Replenish
a) reinstate ‘ b) refill | ¢)) refuse ‘ d) re-polish ‘ b ‘ refill
10 | Tenacity means
a) b) decimation | c) splendor | d) d | perseverance
ingratitude perseverance
11 | Choose the correct alternative word for —Pragmatism
a) b) c) d) Reversion ¢ | Practicality
Appearance | Obscurantism | Practicality
12 | The Earth moves round the Sun.
a) simple b) past perfect | c) simple d) future ¢ | simple present
past tense tense present perfect tense tense
tense
13 | Robert has a gruff voice.
a) past b) present ¢) simple d) present ¢ | simple perfect
perfect perfect perfect continuous
14 | She studied Italian at the college.
a) simple b) past perfect | c) present d) present a | simple past
past continuous | perfect
15 | Do not trust a man who blows his own trumpet. What does ‘blows his own trumpet

‘means here?




a) flatters B )praises C) praises d) admonishes | ¢ | praises himself
others himself others
16 | I am trying to drive home these basic ideas to the students. What does ‘to drive home’
means here?
a)toreturn | b)to find one’s | ¢)to d)none of ¢ | to emphasize a
to a place home emphasize a | these point
of rest point
17 | To smell a rat means. What does ‘to smell a rat’ means here?
a) to see b) to suspect c)tobeina |d)tosmell a b | to suspect foul
signs of a foul play bad mood dead rat play
plague
18 | Though we were good friends, she gave me the cold shoulder. What does ‘the cold
shoulder’ means her?
a) scolded b) insulted me | ¢) abused d) ignored me d | ignored me
me me
19 | Choose the correct option for ‘to add fuel to the fire’ from the following.
a)in b) to confuse | ¢) to d) to d | to aggravate
disorder disorganize | aggravate
20 | The bright sunlight caused the colour —.
a) fade ‘ b) fading | c) to fade ‘ d) to be fade ‘ c ‘ To fade
21 | Taj Mahal is one of the _ monuments in India.
a) amazing | b) most ¢) more d) as amazing b | most amazing
amazing amazing
22 | The old lady began to tell them about her life in prison.
a) little |bythefew  |c)alittle | d)afew | ¢ |alittle
23 | There should be punishment for criminals.
a) severe ‘ b) much | ¢) too ‘ d) many ‘ a ‘ severe
24 of our success depends on our own efforts.
a) few ‘ b) many | c) less ‘ d) much ‘ d ‘ much
25 | While I was walking along the beach, I heard a _ voice.
a) familiar ‘ b) similar | ¢) routine ‘ d) regular ‘ a ‘ familiar
26 | Statement: Should India give away Kashmir to Pakistan?
Arguments:
I.No. Kashmir is a beautiful state. It earns a lot of foreign exchange for India.
II.Yes. This would help settle conflicts
a) The only [b) Only | c) Neither | d) Both I A The only
argument [ | argument | I nor II is | and II are argument [ s
is strong II is | strong strong strong
strong
27 | Statement: Should income tax be abolished in India?

Arguments:




LYes. It is an unnecessary burden on the wage earners.

I1.No. It is a good source of revenue for Government.

a) Theonly |[b) Only |c) Neither | d) Both I B Only argument 11
argument [ argument |Inor Il is | and II are is strong
1s strong II is | strong strong
strong
28 | CMM, EOO, GQQ, _,KUU
a) GRR b) GSS c) ISS d) ITT C ISS
29 | A necessary part of the Guitar is-
a) Teacher b) Band c¢) Strings | d) Songs C Strings
30 | Essential parts of the Election are-
1) Ballot box ii) Security ii1) Candidate iv) Voter v) year
a)i, v, ii b)i,ii,iii | c¢)i,iv,v | d)i,iii,iv D 1, 1ii, 1V
31 | A necessary part of the Book is-
a) Pages b) Fiction | ¢) d) Learning A Pages
Pictures
32 | Look at this series: 22, 21, 23, 22, 24, 23, ... What number should come next?
a) 24 b) 25 c) 26 d) 22 B 25
33 | Look at this series: 31, 29, 24, 22, 17, ... What number should
come next?
a) 11 b) 14 c) 14 d) 15 D 15
34 | Odometer is to mileage as compass is to
a) Speed b) ¢) Hiking | d) Needle B Direction
Direction
35 | Marathon is to race as hibernation is to
a) Dream b) Rest c) Sleep d) Winter C Sleep
36 | Cup is for coffee as the bowl is to
a) Dish b) Soup ¢) Spoon | d) Food B Soup
37 | Select the related word from the given alternatives.
bird: airplane: fish: ____
a) fisherman | b) boat ¢) chair d) water B boat
38 | Find the odd man out from the given alternatives.
a) Moon b) Earth ¢) Stars d) Universe D Universe
39 | Find the odd man out from the given alternatives.




a) Cucumber | b) Beans c¢) Carrot | d) Brinjal C Carrot
40 | Find the odd man out from the given alternatives.
a) Sharpener | b) Paper ¢) Pen d) Ink A Sharpener
41 | Find the number which does not form the group.
a) 3229 b) 4127 c) 5218 d) 7018 B 4127
42 | In the following question, choose the correct code form.
If R=19, RON = 50, then what FONTS equal to?
a) 75 b) 79 c) 78 d) 76 B 79
43 | Choose the odd pair of words
a) b)Wood- | ¢) Coke — | d)Diamond C Coke — Shoe
Lampblack — | Axe Shoe - Glass- polish
Tyre polish cutter
44 | Choose the odd pair of words
a) Time - |Db) c) Length | d) Pressure D Pressure -
Seconds Resistance | — Metre - Barometer Barometer
— Ohm
45 | In the following questions, one term in the number series is wrong. Find the wrong
term.
10, 14, 28, 34, 64, 68, 136
a) 34 b) 64 c) 28 d) 68 A 34
46 | In a certain code language, ‘sea is deep’ means ‘213’°, ‘sky is blue’ means ‘514’ and
‘sea looks blue’ means ‘264°. What number is the code for ‘blue’?
a) l b) 2 c)4 d)3 C 4
47 | In a certain code language, ‘sea is deep’ means ‘213, ‘sky is blue’
means ‘514°, and ‘sea looks blue’ means ‘264’. What number is
the code for ‘deep’?
a)4 b)3 ¢S d)2 B 3
48 | Choose the odd pair of words
a) Man — b) Bee - c) d) Albatross A Man — Woman
Woman Swarm Coyotes — | —Rookery
Band
49 | Which word is the odd man out?
a) b) Hate c) d) Liking B Hate
Attachment Fondness
50 | Safe: Secure:: Protect:




a) Guard b) Sure c) d) Lock A Guard
Conserve

51 | The ‘Desh ke Mentor’ programme was launched in October 2021 by which of the
following state-
a) Delhi | b) Goa | c) UP | d) Gujarat | A | Delhi
52 | On which date Russia invade Ukraine in the year 20227
a)20™ February | b) 24™ c) 24™ d) 20™ March B |24"
February March February
53 | Which country was suspended from UN Human Rights Council recently?
a) Ukraine ‘ b) China ‘ ¢) Taiwan ‘ d) Russia | D | Russia
54 | When is the ‘International Day of Human Fraternity’ observed every year?
a) 2 February b) 6 c) 8 February | d) 4 February D 4 February
February
55 | What is the maturity period of the Sovereign Gold Bond (SGB) Scheme?
a) 4 years ‘ b) 6 years ‘ c) 8 Years ‘ d) 10 Years | C | 8 years
56 | As per a recent report, which country recorded the maximum number of air-pollution-
related deaths?
a) USA | b)Russia | ¢) India | d) China | C |India
57 | Which country is the first to successfully conduct a human heart transplant from a
genetically modified pig?
a) UK |b)USA  [c)Russia | d) China | B | UsA
58 | Which E-Commerce portal has mandated the sellers to mention ‘Country of Origin’?
a) Amazon b) Flipkart c) GeM d) Bharat C GeM
Mart
59 | If a match live commentary in Delhi commences at 10.00 am, at what time the viewer
at London should tune into?
a) 5.30 am |b)430am [c¢)6.30am |d)445am | B | 430am
60 | By which name the main branch of river Ganga is known as in Bangladesh?
a) Jamuna ‘ b) Padma ‘ ¢) Kalindi ‘ d) Meghna | B | Padma
61 | Sirhind Canal is located on which river?
a) Ravi ‘ b) Ganga ‘ c) Sutlej ‘ d) Yamuna | C | Sutlej
62 | Amazon recently partnered with which leading retail Group of India, to deepen its
market presence?
a) D- Mart b) Future ¢) Mahindra | d) Big Basket B Future
Group Retail Group
63 | Which city hosts the annual World Economic Forum?
a) Davos b) New c) New d) Geneva A Davos
York Delhi
64 | Sri Sol Dodum- a social activist fasted recently for the cause which district of A.P?
a) East Kameng | b) West c¢) Papum d) Lower A East
Kameng Pare Subansiri Kameng
65 | Who is the present Chief Secretary of Arunachal Pradesh?




a) Naresh b) Ramesh | c¢) G.V Negi | d) D Dharmendr
Kumar Negi Dharmendra a

66 | RBI would purchase government securities amounting Rs.20,000 crore through which
operation?
a) Repo b) c¢) Open d) Operation C Open
Reverse | Market Swap Market
Repo Operation Operation
67 | Which organisation has released the Report on Currency and Finance (RCF)?
a) IMF b) World c) RBI d) ADB C RBI
Bank
68 | What is the position of India in producing footwear and leather garments in the world?
a) First ‘ b) Fourth ‘ ¢) Second ‘ d) Tenth | C | Second
69 | The P/E is one of the most talked about ratios in the stock market. What does P/E refer
to ?
a) Profit to b) Price to ¢) Profit to d) Price to B Price to
Earning Earning Expenditure | Expenses Earning
70 | When was Food Corporation of India set up?
2)1995 | b)1985 | ©)1975 | d)1965 | D | 1965
71 | When was Mahindra and Mahindra established?
2)1942 | b)1945 | ©)1940 | d)1943 | B [ 1945
72 | In which year the Shram Suvidha portal was launched?
a) 2010 [6)2012 | c)2014 | d)2016 | C |2014
73 | What is India’s share in global vaccines market?
a) 62% [D)70% | c)50% | ) 40% | A |62%
74 | Which country is the largest producer of cotton in the world?
a) China |b)India | c) USA | d)Pakistan | B | India
75 | In which year RBI was established?
2)1945 | b)1925 | ©)1930 | d)1935 | D [1935
76 | 37+3°+3°+3%+3"is divisible by:
A) 121 |B) 123 | O)123 | D) 127 | A | 121
77 | If width of a rectangle is increased by 20% and length is decreased by 30% then

change in the area of rectangle would be:

A) 36% [B)25% | C)9% |D)16% | D | 16%
78 | Find out the percentage of profit when the cost price of 750 kiwis equals to the sales

price of 500 kiwis:

A) 20% |B)25% | C)50% | D) 100% | D | 50%
79 | Which one of following is the perfect square number is:

A) 7931 |B)9409 [ (C)4479 | D)8639 | B | 9409
80 | There are two types of animal in a forest, namely stag and ostrich. If their total number

is 125 and their total number of legs is 400. What would be the number of ostrich and
stag in the forest?

A) 50,75 | B)25,100 | C) 75,50 | D) 100,25 | A | 50,75




81

If the price of petrol increased by 150% then what percentage of reduction would be
required to keep the expenditure on petrol constant?

A) 40% |B)60% | C)20% |D)80% | B | 60%

82

The decadal growth rate of the population of the state is 25%. What would be the
population of the state [million] in 2050 If the population of the state in 2010 is 512
million :

A) 312.50 [B)625 [ C)1000 |D)1250 | D | 1250
83 | The value of [23 x 4% x 8° x 16° x 327] will be equal to:

A) 776 ‘ B) 767 | 0) %5 ‘ D) 793 | C | %5
84 | What would be the value of X when [17+2°+3°+4°+5°+6°] = (14243 +4+5+6)"""

A) 4 | B) 12 | C)8 D)0 | C | 8
85 | (23)%+ (29)+ (31)°+ (37)°+ (41)* =2

A) 5381 [B)6391 [ C)4371 | D)3361 | A | 5381
86 | When [(20)*+(30)*+(35)°+(36)™+(40)"+(50)°]= (X)” then value of X:

A) 99 | B) 81 | 0)91 | D) 89 | D | 89
87 | If the sum of two numbers of 400 and difference is 100 then the value of the largest

number will be:

A) 250 |B)300 | C)200 | D) 400 | A | 250

88 | The average of ten numbers is 60 and if the average of the smallest and largest number

is 50 then what would be the average of the remaining numbers?

A) 30 | B) 40 |0)37.50 |[D)62.50 | D | 62.50
89 | The total number of prime numbers between 51 and 100 is:

A9 | B) 10 O 11 D) 13 | B | 10
90 | The total number of square numbers from 1 to 100 is:

A9 |B) 11 | O) 16 D) 10 | D | 10
91 | The average of first 100 natural numbers is:

A) 49.50 |B)59.50 [C)50.50 | D)60.50 | C | 50.50
92 | The average of the first 50 odd numbers is:

A) 50 | B) 51 | 0)52 | D) 53 | A | 50
93 | The total number of numbers divisible by 2, 3 and 4 existing between 1 and 100 is:

A) 20 | B) 32 | C)8 | D) 16 | C E
94 | If A+B=50 and A x B=225 then what would be the value of A-B?

A) 30 | B) 40 | 0)25 | D) 20 | B | 40
95 | If square of the sum of two numbers is 4900 and product of the same two numbers is

600 then what would be the difference of those two numbers?

A) 50 | B) 60 | ©) 40 | D) 30 | A | 50
96 | 1434547+ i, +100=?

A) 9604 |B)9801 | C) 10201 | D) 10000 | D | 10000
97 | The total number of numbers divisible by 3, 5 and 7 existing between 1 and 1000 is:

A)9 |B) 13 | 0) 17 | D) 21 | A E
98 | If radius of a circle is decreased by 20 percent then it would decrease the area of the

circle by:

A) 40% |B)24% | C)36% |D)20% | C | 36
99 | If side of the square is increased by 25 percent then it would increase the area of the




square by:

A) 25%

B)50% | C)62.50% |D)56.25% |

D

| 56.25%

If A:B =2:3, B:C=4:5, and C:D=6:7 then A:D will be:

A) 8.7 |B)16:35 | C)4:9 | D) 9:25

B

| 16:35




